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Suppose that X ~ Binomial {n, 0.5}. Find the probability mass function of Y=2x.

Let Xq, X5, ..., X3¢ beiid., each with mean p =35, and variance 62=4. Using the central limit theorem to find

P(Xy + Xz + - + Xag > 174).

Based on the central limit theorem, what is the probability that the error will be less than 3.6 when the mean of a

random sample of size # = 49 is used to estimate the mean of an infinite population with o =21 ?

The time it takes to assemble a simple bookcase from an IKEA company is a random variable having a normal
distribution with u =18 minutesand ¢ =4 minutes. For what length of time or less is the probability 0.2266

that such an assembly can be finished?

ERTHRSM RN LIELR S BT S RN Poisson Distribution » Jg 4 % 74, 1951 42| 2000 £ Rty B &

FifdeTF -
AR R B/ 0 1 2 3 4 5 #aFa
¥R 2 $(0;) 10 17 12 8 2 1 50
Y R BUE)) 11 16 13 7 2 1 50

K (a) Poisson £#t(Parameter)Ath &3t : (b)#k & F41 & % A Poisson Distribution 8 - 35| & &
R E #u3t F (Test Statistics) &) 38 48 & % (Rejection Region) = (Hldw: 1> tg4)

S5 KA~ P ERIRKNX o3t 2R (Yo F &7
X|76 64 80 75 71
Y|70 66 77 67 65
R SURR 8 Fe #3T 9 AR 4k 8% Spearman % 4848 B} 1% 3 (Spearman’s rank-correlation coefficient) o

LM EQF ST RRBBRMBAY, = o + LoXi + &, e MRA LAAN(,02) > i=1,..n, EREH,: =0
B (a) Sttt A BB D ERE AR R EL t 580?

ChodAEzmESRs OO BAERA (Y) B8 MWHA RGBS Pa8E48 6, =08 % ¥
HPHEHX =105 BELS, =645 FHAURAY =1684 S, =8%i > n=27 » ZBREXRK
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9. B KEEME(Treatment) BB AXy = m +e&;i=1..Kj=1 .0 HAXZMEA KATHS P9 X,
ZEIAEBEGTHE  REHREASZNENS B bap¥ E » B SSTO (Total sum of Square)=5STr
{Treatments sum of squares)+ SSE(Error sum of Square) -

10. 49 fARE T &S H10EFMTE X, =68 * X,=74 " X,=70" X, =68 S, =10" §,=12"
S, =8 * §, =10 ° FEEREHHRAE EFERN(Y, 07), =1,23,4TF » £ANOVAR T #1397 iR 2
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STANDARD NORMAL TABLE (Z)

Entries in the table give the area under the curve
belween the mean and z standard deviations above
the mean. For oxample, lor z - 1.25 the aroa under
the curve belween the mean (0) and 2 is 0.3944,

RESRY o000l o0.01] o002 oo03] o¢o0a[ oo05] oo06] 007{ oo08] 009
0.0 00000 0.0040 0.0080 0.0120 00160 00180 0.0239 0.0278 00319 0.0359
0.1 0.0398 0.0438 00478 0.0517 00557 00596 0.063¢ 0.0675 00714 0.0753
023 00793 0.0832 0.0871 0.0010 0£.0948 0.0987 0.1026 0.1064 0.1103 01141
= 0.1179 Q.1217 0.1255% 0.1283 00,1331 01368 0.1406 G 1443 0.1480 0.1517
0.4 0.1554 0.1591 01628 0.166G4 2.1700 00,1736 Q1772 01808 0.1844 0.1879
051 0.1915 0.1950 0.1985 0.2019 0.2054 02088 Q.2123 0.2157 02190 0.2224
0.6] 02257 0.2201 G.2324  0.2357 0.2380 0.2422 02454 0.2486 0.2517 0.2540
0.7 0.2880 0.2611 02642 0.2673 02704 023734 0.2764 0.2794 0.2823 0.2852
0.81 o.2881 0.2910 02939 0.2869 0.2095 03023 0.3051 0.3078 0.3106 0.3133
0.8 03156 03186 03212 03238 0.3264 0.3280 03315 0.3340 0.3365 0.33868
1.6 | 0.2413 03438 .3461 0.34085  0.3508 0.3513 0.3554 0.35¢Y7 0.3529 0.3621
14 0.3543 0,36865 0.3686 Q3708 0.3729 00,3749 0.3770 0.3790 0.3810 0.3830
1.2 0.2818 0.3869 0.3888 0.3907 0.3925 0.39441 0.3862 0.3980 0.3007 0.4015
1.3 0.4032 0.4049 0.4066 o.q082 0.4099 Q.4115 0413 0.4147 0.4162 04177
1.4 04192 ©0.4207 04222 0.4236 04251 04285 04279 0.4292 04306 0.4319
1.5 ] 0.4332 0.4345 0.4357 04370 Q4382 0.4304 04406 04418 0.5429 0.4447
1.8 0.4452 (04463 04474 (3484 04495 04505 04515 04525 04535 0.4545
1.7 014554 0.4564 04573 0.4582 Q. 4591 0.4599 04608 04616 Q.4625 04633
:
:
%

B 04641 04849 044656 04664 GAG71 04678 0.468¢ 0.46863 04699 04706
S 04743 04719 04726 04732 04738 0.4744 04750 04758 04761 04767
01 04772 0,4778 04783 04788 Q4793 04798 04802 04808 04812 04B17
211 0.4821 04826 04830 04834 0XB38 04842 04846 040850 04854 0.4857

T 223 04861 04864 04868 04871 Q4875 04878 04881 0.4884 04887 04880
C 231 0.4893 0.4896 04898 043901 04904 04906 04909 04917 04913 04916
247 04918 04920 0.4922 0.4925 04927 04929 04931 0.4932 04934 0.4936
2.51 0.4838 0.4040 04941 04943 04045 0.4946 0.4948 049049 04851 04952
2.6 ] 04853 04955 0.4956 0.4957 0.4959 04980 4961 0.4962 0.4Y63 0.4964
2.7] 04865 04966 04967 04968 0.4969 049570 04971 04972 04973 0.4974
28| 0.4974 04975 04976 041977 04977 04978 0.4079 04979 04080 0.4987
2.9 | 04981 04982 0.4982 049683 04984 0.4984 0.4985 0.4985 04986 0.4966

3.0 | 04987 04987 0.4987 0.4988 0.4988 04989 0.1989 0.4989 0.4990 0.4990
31| 04990 04951 04981 0.4881 04992 04002 04902 04802 0.4993 0.4503
3.2 0.4993 0.4993 04994 0.4804 0.4994 04994 04994 0.4395 04995 0.4995
3.3 | 0.4995 04995 04995 04906 04996 0.4996 04996 O0.4906 0.4996 0.4597
3.4] 04997 04997 04997 0.48997 0.4997 0.4997 048997 0.4997 04997 0.1998




